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TCP State (1/3)

o {5 FH—2XImt 4 A unpvl3e/tepcliserv
* YIRFATTHH make JLEATT make
 #fTecho client: . /tcpcliOl 140.113.1.1

o BRI —% It {T netstat -1 | grep 9877 - [thclient HY
TCP state /0]?
Ans:

+ S0 T —E{] TCP state S4§f[E] » 3BH A AT
* 1% Ctrl+D 457K client f2 = ET




TCP State Transition Diagram
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TCP State (2/3)

o {2 A Tclientdy2%Imtd » #E A unpvl3e/tcpcliserv

jb IEI:

=¥l{Techo server: . /tcpserv0l &
* #HifTnetstat -1 | grep 9877 - server f/] TCP state Sfa[?

9}?"5}? E 1Y TCP state EHAEEFHH - 4GSR E G EH?




TCP State (3/3)

o IKF] o 1E[E—%XImt%i{Techo client: . /tcpecliOl 127.0.0.1

* PRFrecho client{EETTIRES @ (£S5 — &5t T
netstat | grep 9877 {5HA[E Bserver » {a]F Ficlient » H
HjHYTCP state /%{0]? Ans:

o 7% Ctrl+D &5 5K client 2T\ FTT

s Hi{Tnetstat | grep 9877 » [HtHFclientdyTCP state Fyfa]?
Ans:

* (FfeE#Tnetstat HEFEL) I state {AHFZLLEE? Ans:



Child Process

o (i FHF—4XImtE A unpvl3e/tepcliserv

« #lEtcpserv0l.c > B—1TREZE T child process? (AL fork () )
o (U FBITHNE =% {Techo server: . /tcpserv0l &

« #fTecho client: . /tcpcliOl 127.0.0.1

s [E 55—tk T ps —ejf | grep tcpserv0l o {REEHEE
Y& a3 By child process?

o g AGHE LUHAE clientf2 = T2 75 1H A
o 3% Ctrl+D 45 oF client f2 =0T
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wHZZ7ombie

* ZKHI © client FEXU&G IR ET T
ps —ejf | grep tcpserv0Ol

R RS EEFE S zombie process?

* fEFH kill f5-5mE Ik server B2 » FHEATT
ps —ejf | grep tcpservOl

zombie process & EAJIIRN{FAE?




b b

ZombieHN R ¥

o {5 FH—2XImt 4 A unpvl3e/tepcliserv

* Bl Etcpserv0d.c > Wi—1THE AR ffisignal handler? Wf—1TH a3
accept MO #G FETHE Py A iy gEaR?

« ¥ sigchldwait.c > f—1THEREE HHzombie?
* H{T./tcpserv04 & EEF X clientFE X FETTHIE

s WEEE RS Tps —eJE | grep tcpserv0d4 EEREEA
zombie process?




Half-Closed Connection (1/2)

o FTRASXIRIEFZZC - #E Aunpvl3e/tepcliserv

* #1fT./tcpserv04

« #ifTecho client: . /tcpcliOl 127.0.0.1

o B —% e R fTps —ejf | grep tcpserv04 i
child process id {7 - kill $5

« Hi{T netstat | grep 9877 - 55 server parent i client Y
TCP states £% /& fn]?




Half-Closed Connection (2/2)

* #KHJ o {Eclientf2 Tl A GHE I enter (2l E clientf2 = H B — Bk lFF
H]) o B ZZclientFE =0V L EHUE
* Hi{T netstat | grep 9877 - 55 server/client [\ TCP state -




Orphan (1/2)

o JKHT - HESD Jtepserv0d ELAFINST
» #fi{Techo client: . /tcpcliOl 127.0.0.1

« SRt R T ps —ejf | grep tcpserv04
parent process id [ igFEL kill 5

* HfT netstat | grep 9877 - 55¥ server child &1 client ) TCP
states 2% Fy{a]?

« HIE client 2 =& G REIEFBTT?




Orphan (2/2)

* KA  {Eclient 2% Ctrl+D 459 1T - B L LRLEAVEE -
* #ifT netstat | grep 9877  $53¥ server child & client {1y TCP
states 2% By fno]?



Appendix — Why Cannot Use netstat?

o MR P R D I i netstatf 5 2

o SENTT sudo apt install net-tools F5<Z7E4ETEE



Appendix — Why Cannot Build the Project?

* BATTElinux{E2E 248 (UBUNTU)#  Tunpvl3e 1] §E 75 $H e 75 ZZHERR
° Fé%E@éﬁ%%libfreeﬁ%ﬁfﬁerror: argument 'size' doesn't match prototype

o ZESFhttps://people.cs.nycu.edu.tw/~lhyen/np/unpvl3e_install.html
o 28 gmE=tepcliserv/cpservpoll018F B 5E H FH error: ‘OPEN_MAX’

undeclared (first use in this function)
* 15BN Flinux R4 E FHY ZASEMACROSE SN — B T 2L
o TJDIAE unp.h BHEGH A —1T HEFHRHIMACROEE]
e ##define OPEN_MAX 1024




